Math 3 





Name: ________________________

1-1 Homework 1




Decide whether the relation is a function and justify your answer. If it is a function determine whether it has in inverse or not.  Justify your answers. 
1) {(-5, -2), (-1, 1), (3, -6), (8, 1)}

2) {(2, -9), (2, -2), (6, 8), (8, 1), (11, -7)}

3) {(-8, 2), (-8, 8), (-1, 6), (4, 7), (7, 5)}
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Decide whether the relation is a function and justify your answer. If it is a function determine whether it has in inverse or not. 












